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Part I / YT 1
Mathematics / TifUTa

If A and B be two finite sets such that the
total number of subsets of A is 960 more
than the total number of subsets of B, then
n(A) —n(B) (where n(X) denotes the

number of elements in set X) is equal to :

1 2
2 3
G) 4
4) o

If Ay and A, are the two values of A such
that the roots a and B of the quadratic
equation, A(x2—x)+x+5=0 satisfy

A A
g+E—Iré=0,then—§+—§isequal
B a 5 AM

to:

(1) 536
(2) 512
(3) 504
(4) 488

If (x+iy)2=7+24i, then a value of
1 1

(7+ \/—576)5 — (7--576)" is :

1) —3i
@) 2i
3B) 6
4) —6i

1.

G ATNM B IR Tg=a WEFASF
T STII=! i G&, B o STHTHA
HT FE& | 960 Af¥® T, @ n(A)—n(B)
(STl n(X), Tg=I X % TaFal sl G gl
?) W T :

1 2
2 3
(3) 4
4) 6

Ifg A, ANy, N TE & AA € T fgemt
THIRT A(x2—x)+x+5=0% T o, B TH

%*1%53+E+é=0%,a\1}\—;+)\—§w
B o 5 NN

7

(1) 536

2) 512

(3) 504

4) 488

A (x+iy)2=7+24i &, A

1 1

(7 + V=576)2 — (7 - V=576)* 1

1) —3i
@) 2i
3) 6
4) —6i




Let S be the set of all real values of ‘a” for
which the following system of linear
equations

ax+2y+5z=1

2x+y+3z=1

3y+7z=1

is consistent. Then the set Sis :
(1) equaltoR
(2) equal to R—{1}
(3) equal to {1}
(4)

an empty set

For all real numbers x, y and z, the

determinant
2x XY —Xz Y

_ _ .2

2x+z+1 xy—xz+yz—z= 1+y is equal

3x+1 2xy—2xz 1+y

to:

(1) zero

2 (- -2 (-2

B (x—yz) (y—2)

@) (y—xz) (z—x)

An urn contains 5 red, 4 black and 3 white
marbles. Then the number of ways in
which 4 marbles can be drawn from it so

that at most 3 of them are red, is :

(1) 455
2) 460
(3) 490
(4) 495

AT S, ‘2’ & |t arEdfaes Ol P 9= §
fSoer fau as g e

ax+2y+5z=1

2x+y+3z=1
3y+7z=1
A (consistent) T, T HH=A S :
(1) R& s
2) R—{1} % s &
(3) {1} % SRR &
(4) TFREmeg=at
x,yﬂ%z%ﬂ“ﬂﬂﬁﬁiﬁmﬁ%m
BSINMED
2x Xy —xz v
2x+z+1 xy—xz+yz—22 1+y
3x+1 2xy—2xz 1+y
T T
1) =)
2) (x-y) (y—2) (z—%)

2
G) (-y2) (y—2)
4) (-x2) (z-x)

Teh HeA B 5 AT, 4 il 97 3 Ihe e § |
@ 3 qTni, F0 Fawr | 9 4 9 et s
T € T 0 9 At 9 Afes 3 o €,
Eﬁﬂ'@ﬂ%

(1) 455

2) 460
(3) 490
(4) 495

SPACE FOR ROUGH WORK / T% &td & foiq swte



If the digits at ten’s and hundred’s places
in (11)?°16 are x and y respectively, then
the ordered pair (x, y) is equal to :

1 (L6
2 61
G @1

@ (L9

Let a;, a,, a3, a4, a5 be a G.P. of positive
real numbers such that the A.M. of a, and
a, is 117 and the G.M. of a, and a, is 108.
Then the A.M. of a; and a; is :

(1) 108
@ 117
(3) 1445
(4) 1455

If the sum of the first 15 terms of the series

3+7+14+24+37+ ... .. is 15 k, then k
is equal to :

(1) 122

(2 81

(3) 119

4) 126

Ffg (11)2016 § T7TE qo Heh o T R SHAW:
Wxﬁmy%, @ shfHd g (x,y)w%:

(< ay, a,, ag, a, A1 a5 Teh YCH (e
el & TEft OIR 9@ § fF a, Ao a, 0
GHIT /e 117 € AT a, 97 a, H1 OR
e (G.M.) 108 8, Tl a, TT a5 I FHIMN
mA T

(1) 108

2) 117

(3) 1445

(4) 145.5

Ife U 3+7+144+24+37+ .. ... & ggH

1596l HIAM15k S, O k R © ¢

1) 122
2) 81

3) 119
4) 126

SPACE FOR ROUGH WORK / T% @Td @ felq s1e



10.

11.

12.

lim log (sin7x + cos 7x) equals :

x—0

sin 3x

—_
N

~

= W[
w|E «@l

W= W]
e

)

o

~

If the function f: R — R, defined by
ax, x <2

X =
f(x) ax’> —bx +3, x =2

is differentiable, then the value of
f'(—=3)+f'(3) is equal to :

1 3
(2) 4
15
G 5
(4) 0

The sum of the abscissae of the points
where the curves,
y=kx?+ (5k+3)x + 6k +5, (keR), touch

the x-axis, is equal to :

19
1 5
10
2 5
5
G 3
4
4) —3

10.

11.

12.

lim log (sin7x +cos7x ) qyew ¥ -

x—0 sin 3x
n 2
m 3
, 1
@ 3
3 L
G 3
1
—log 7
@ 3log

Wﬁ‘(cﬁa:lf:R—)R,\_rﬁ
ax, x <2

x =
() axz—bx+3, x =2

gy gfewrfeq 2, srawadia ®, @
f(=3)+f'G)H AT :

1 3
(2) 4
15
G 5
4) 0

37 feigail & x-Fremisht =1 i, ef ok
y=kx?+ (5k+3)x + 6k +5, (keR), x—31&
ﬁwﬁw—cﬁ%‘,%

19
S Y
10
2 3
5
G 3
4
4) ~3




13. Water is running into an underground | 13. T YfH7d el it TeraTehr <ohl, T 10 H.
right circular conical reservoir, which is el e TS rer 3meR =t 5= 5 1. %, g
10 m deep and radius of its base is 5 m. If ST T AfG Taht o I o STIGH § TR
the rate of ch in the vol f wat . F afead

e rate of change in the volume of water aﬁﬂ?%’n‘ 3 /f %, A S B
in the reservoir is %frr m3/min. , then the S (q"}./ﬁ:[, § ) R T %,
rate (in m/min) at which water rises in it, g
when the water level is 4 m, is :

3 3
1 3 M 3
1 1
@ 3 @ 3
1 1
G ) -
3 3
@4 5 @ 5
x+2 x+2
14. The integral dx | 14. HHRA J. dx sER
8 J.(X2+3X+3)\/X+1 (x2+3x+3)\/x+1
is equal to : EE
1 -1 I X | 1 -1 I X |
M FE\Been| T M FE | BEy| T
2 -1 I X | 2 -1 I X |
@ HFE\Beey| T @ HFE |\ Beeny| T
2 t_l_ = _+C 2 t_l_ — _+C
®) ﬁco NER! ) ﬁco Jx+1
1 -1 i X\/§ | C 1 -1 i X\/g ] C
(4) ﬁcot ,_x+1 + (4) ﬁcot ,_x+1 +
(where C is a constant of integration) ( el C Ueh FHTheH 3R § )

W/ Page 6 SPACE FOR ROUGH WORK / T% T & fag e



T4 T4

dx dx
15. The integral I isequal to: | 15. HHIeh R T
1+ Jtan2x 1+ Jtan2x
724 724

) = n T

1 3 03

) - n X
@ 7 @ 1
3 - g T
6 % G %

4 = 4 T
@4 1g ST

16. If the line, y=mux, bisects the area of the | 16. IS X@I y=mx, &

region
3 2 3 2
{(x,y):0=x=< > O<y<1+4x—x°}, then {(x,y):0=<x= 5 O<sy<l+4x—x“}=1 @
m equals : R 91N | fauifsd A &, A m AT AR :
9 9
1 3 M 3
13 13
@ = @ 3
13 13
G & G &
39 39
@ 1 @ 15

W/Page 7 SPACE FOR ROUGH WORK / T% @14 & fag s



17.

18.

19.

The order and the degree of the differential
equation of all ellipses with centre at the

origin, major axis along x-axis and

J3

eccentricity Y~ are, respectively :
2

M 1,1
@ 21
G) 1,2
4) 22

If an equilateral triangle, having centroid
at the origin, has a side along the line,
x +1y=2, then the area (in sq. units) of this
triangle is :

1 o6

(2 6v3
@) o3
4) 3J6

The equation of the circle, which is the
mirror image of the circle, x2+ yz —2x=0,

in the line, y=3—x is :

(1) x2+y>—6x—8y+24=0
(2) x*>+y*>—8x—6y+24=0
(3) *+y*—4x—6y+12=0

(4) 2>4+y*—6x—4y+12=0

17.

18.

19.

7 |t el et s O foig ®, <
378, x-a&iﬁﬁwﬁ%amséﬁmg%,%

3R] HIHTUT Shi Shife TAT ©1d HA: © :

M 1,1
@ 21
@) 1,2
4) 22

Th HGTW x+y=23ﬁfﬁ‘\’ﬂﬁ%, ?ﬁﬁfﬂﬁ

T A (T 3R H) T :
1) 6
2 63
9
@) V3
4) 3J6

3H g9 HT FHRW, SO a2+ y2—2x=0
W@ y=3—x H A0 gfafea &,

(1) x2+y>—6x—8y+24=0
(2) x?>+y*>—8x—6y+24=0
(3) x*>+y*—4x—6y+12=0

(4) 2>+y*—6x—4y+12=0

SPACE FOR ROUGH WORK / T% @Td @ felq s1e



2 2 , .
20. The product of the perpendiculars drawn 20. e % + Z—S — 1 1 T § TEe fag

2 2

from the foci of the ellipse, x9 + Z_S =1 [%/ #]W{ it T et Yar W e ™
upon the tangent to it at the point it T O & :

3 53

2 2 )i
1 9 1 9

, 18 , 18
@ T3 ST
3) 18 (3) 18
4) 3J13 4) 313

21. Which one of the following points | 21. 9% 7 F HIF-4 fag sAfauraaa

2 2
does not lie on the normal to the hyperbola, % - % =1 & foig (8,33) W i Y
% - % =1 drawn at the point s TR feera =&t © 2
(8,3v/3)?
1 (1) (13 _i]

o (2 e

1 ) (12 Lj
@ (=) B
(3) (11’ \/5) (3) (11/ \/g)
(4) (10, \/§) (4) (10/ \/g)

W/Page 9 SPACE FOR ROUGH WORK / T% @14 & fag s



22.

23.

24.

If the shortest distance between the lines
x+2N=2y=—12z, x=y+4N=6z—12\ is

4+/2 units, then a value of \ is :
1 2

(2)
®)

4)

SER

The perpendicular distance from the point
(3, 1, 1) on the plane passing through the
point (1, 2, 3) and containing the line,

N
r =

=~ >

A A A A
] +]+)\(2l +j+4k), is :

- - -
Three vectors 5, b and ( are such that

‘ =2, ‘;}‘ =4 and
= 8 . Then the value of

- > - - - =
4a'b +3b-c +3c-a isequalto:

1) -68
2 -26
(B) -34
@) 27

22.

23.

24.

Ife X@ell x+28 =2y = —12z,

x=y+4\=6z—12\ % o= A9 T 442
THERE, WA TH AR :

(1)
(2)
(3)

(4)

N\ﬁgsﬁ’

g (3,1, 1) ¥ & THad, < foig (1,2,3) @

gAHT 1A 7 odwr fyw w Y@
e A A AN AN A
r=i+j+NQi+j+4k) @y W

= gfew : b oau o 8 ¢ f*

- - -
‘a‘ =1, b‘ =2, C‘

s

%
aerJrCZO%’T'h

=4 g

(1) -68
Q) -26
3) —34
4) 27

W/Page 10
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25. Two numbers are selected at random | 25. YIHS: Wﬁﬁﬁﬁﬂ@ﬁ(mm

(without replacement) from the first six %) AgesA A e | AR X I H H B
positive integers. If X denotes the smaller @& &1 YIrd wIal §, a1 X &1 geamn
of the two numbers, then the expectation (Expectation) EE
of X, is :
T T
L 3 D3
, B , B
@ 3 @ 3
3 Z a L
®) 3 ®) 3
5 5
4 3 @ 3

26. If A and B are two independent events | 26. gfg A 9971 B <1 a3 ‘EIE?TQ' Tt g f&

such that P(A) = % and P(AUB) = %, P(A) = % TUT P(AUB) =§ 3,
then P(A NB) is equal to : P(A NB) sI&IX EE
1 1
O ® 3
1 1
@ 70 @ 10
3 3
® 12 G
3 3
4 35 @ 35

W/Page 11 SPACE FOR ROUGH WORK / T% @14 & fag s



27.

28.

A bag contains three coins, one of which
has head on both sides, another is a biased
coin that shows up heads 90% of the time
and the third one is an unbiased coin. A
coin is taken out from the bag at random
and tossed. If it shows up a head, then
the probability that it is the unbiased coin,

1S

5
O
5
@ 5
1
G 3
3
@4 g

The value of - = + S; Sage 8
1 22

) %

®) %

4 3-V2

27.

28.

T ¥t B i faeeh €, 579 9w & 9Hi 3R
ot ®, g0 faaem S1fa (biased) ® fo8 W
o 90% IR Uehe B ® AR {9 sHfEa
faear %1 91 ® @ ush fagent arg=an fahma
Y IBIA T AfG Faaer W ot gahe &1, @

3G YA THe=RT B 1 Wifaehdr € -
5
1 15
5
2 o5
1
G 3
3
4 3
T, 1 5,
c0s285° /3 sin255° FIHME -
1) 242
42
SN2
o 5
4) 3-2

W/Page 12
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29.

30.

An observer standing at a point P on the
top of a hill near the sea-shore notices that
the angle of depression of a ship moving
towards the hill in a straight line at a
constant speed is 30°. After 45 minutes,
this angle becomes 45°. If T (in minutes) is
the total time taken by the ship to move to
a point in the sea where the angle of
depression from P of the ship is 60°, then

T is equal to :

(1)  45(1 +/3)

Which one of the following statements is

a tautology ?

1) Pvaey—q
2 pvP—9
3 pv@—p

4 p—o@pP—9

29.

30.

Tk ok HHg o 919 fEd T qerel i =il
PW® Yol gleny Weh @ISl <hl 3dTHA kvl 30°
T § | STETS Uk SHM 916 9 Uk O Y i
RISl T SR M@ 2| 45 e % a” T®
WHIT 45° B ST & | A7 §Hg | 98 T folg,
e foig P | &Sl &1 3T I 60° T,
Tk Uge & Fo g9 (faedl ®) TR @ T
R T

1 | @ RF-11 e Tk Il (Tautology)
€?

1) (Pva—q
2 pvip—9
B pv@—p

4 p—->@pP—9

W/Page 13
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Part II / YT 11
Aptitude Test / 3Tf&fer aireror

Directions : (For Q. No. 31 to 33). The problem figure shows the top view of an object. Identify
the correct elevation from amongst the answer figures looking
in the direction of the arrow.

fdor: (731 @33 & fow) Tv7 ATHd ¥ et aeq #1 SR gvF fo@rr & i &
19T 3T gU T SHIaal 4 d 9% T THE §vF TeAl1d |

Problem Figure / 97 3I&hid Answer Figures / 3t 377?77%12#

U oy py
T (1) ) 3) (4)

32.
[] |I_I| ]
| | | | | |
1 1) @ (3) (4)

33.

= é é %
1) ) 3)

W/Page 14 SPACE FOR ROUGH WORK / T% T & fag e




Directions : (For Q. No. 34 to 36). Identify the correct 3-D figure from amongst the answer figures,

which has the same elevation, as given in the problem figure
on the left.

fE9r : (734 @36 & @) | 3-D 3 Ffaal ¥ @ 3G FHd F GEA4 (7 F, GgE
§vF gvT 3Pl q firerdt g

Problem Figure / F97 3Thld Answer Figures / 3t¥ 377?»’7%/2#'

« [ s
2 ©)
() 3)

(1) (4)
g
(1) (2) 3) (4)
Directions : (For Q. No. 37 to 40). Which one of the answer figures is the correct mirror image of
the problem figure with respect to X - X ?
fFE9r: (737 @40 & @) | ST P & T BHi7-Tl STFHIT 5T T G597 SHT FXK - X G
Tl Tel g9 Fldler & 2
Problem Figure | F7 Sfld Answer Figures / 3t ST
X
| & % B @
X 1) (2 ) (4)

W/Page 15 SPACE FOR ROUGH WORK / T% @14 & fag s



Problem Figure | 97 3fld Answer Figures / 3t 377?77%/2#

X
X (1) ) 3) 4)
X
X 1) ) 3) (4)
X
X 1) ) 3) 4)

Directions : (For Q. No. 41 and 42). Which one of the answer figures will complete the sequence of
the three problem figures ?

fder : (7. 41 sik 2 & fom ) ST Hla 7 G F7-TT STHT I 7 F97 FHiEal 5
G 3774 (sequence) T & ST ?

Problem Figures | H¥7 377557%’47 Answer Figures / 3t 3775’77%?77
<& I 01 I = 0 —
= =X =l ? OXa OX= OXZ =<0
SO a 0 i i
1) (2 ) 4)
42. & ? < <5 z%-
NN

1) (2) 3) (4)

W/Page 16 SPACE FOR ROUGH WORK / T% T & fag e




Directions : (For Q. No. 43 to 45). Which one of the answer figures shows the correct view of the

3-D problem figure after the problem figure is opened up ?

fFEor: (W43 @45 % forw ) | 3-D F¥7 3MFHId & Gierd T, W Hiadl § & &l §vd

FT-Gr &2

Problem Figure / 97 3Tld Answer Figures / 3t 377§Iv7%ﬂ7f

.

il

i

J L JL I

JL JL JL L

oAl L

(1) 2) () (4)

W/Page 17
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Directions : (For Q. No. 46).

9T : (7 46 % for@ )1

Problem Figure | F97 STld

46. ==
5

Directions : (For Q. No. 47 to 50).

39T : (W 47 @50 & form)

Problem Figure /97 3I&hid
47.

48.

49.

& &

Omne of the following answer figures is hidden in the problem figure
in the same size and direction. Select the correct one.

T4 1 T ST SHAA F G TH SHT T R 9 F 7T w9 G
797 3hla 4 g9 &1 #1741 &l & g

Answer Figures / 3tX 37@'7%/27?

cr 4] (] ]

(1) ) (3) 4

The 3-D figure shows the view of an object. Identify the correct

top view from amongst the answer figures.

3-D F¥7 3TFfd T TH g% & U 599 &1 QT T &1 39H7
Tl ST g9, ST SFHaA § G T |

Answer Figures / 3t¥ 37@'7%/27?

] [T [T [
I B e e B I B B
1) @ 3) )
i [T ] [ [

) @ 0 @
ﬁ I s [
= = |

) ® o @
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Problem Figure /57 37ld
50.

Directions : (For Q. No. 51 to 53).

T : (751 @53 & @)1

Problem Figure / F97 3Thld
51.

e
52.

e
53.

e

Answer Figures / 3t ST

M ) () @)

The 3-D problem figure shows a view of an object. Identify
the correct front view, from amongst the answer figures, looking

in the direction of arrow.

3-D ¥¥7 3plad & T 9% & TF g99 &1 fe@rr w7 &1 ak
&1 1397 & 3@ 3 $9% Te! THYE 99 Pl I HIaEl 7 q
ekl

Answer Figures / 3tX 377?»’7%/2#
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Directions : (For Q. No. 54 to 56). The 3-D problem figure shows a view of an object. Identify the
correct front view, from amongst the answer figures, looking

in the direction of arrow.

fder : (9. 54 @56 & fem@ ) 3-D F¥7 3Tphla ¥ U %] & T g99 &1 fe@rar 7 &1 ik
F! 1397 o 3@ g $9% Te THYE 99 Pl I HIaal 4 G
Y IfTq |
Problem Figure / 97 3T&hid Answer Figures / 3t 377?77%12#
54.
,_|_|: ,_|_|: ,_l_I: : []
L] | ] |
0 @ o) @)
N
55. ] ,_|_|: []
I ] — 4E|‘E _I_|_
1) ) ) 4)
AN
56.

L
i
T

1) (2) 3)
~N

Directions : (For Q. No. 57 to 60). The problem figure shows the top view of objects. Looking in
the direction of the arrow, identify the correct elevation, from

amongst the answer figures.

59T : (9. 57 @60 & @) | T 3Tpia ° aagsi H1 W §vT fo@rar = &1 ik Bt e 7
T@d §U W Sl 3 9 T8l GG 5 BTy |

Problem Figure / H37 377}'7%’ Answer Figures / 3t¥ 37@'7%/27?
57.
09 pilh mllh el mik
O
T (1) ) 3) (4)
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Problem Figure / 997 3Tld Answer Figures / 3t 377?7'/%‘#

R

T 0 ) G) @

59.

o 0 N VN VAN V%
1) (2) (3) (4)

X
!

199 mh mh oA 20

!

Directions : (For Q. No. 61). From the top view given in the problem figure identify the correct
3-D figure from amongst the answer figures.

fEor: (7 61 & form )1 g TE g STPId F ST 9T H1 Gel 3-D IR SFEladl 7 F
TEE T |

Problem Figure / 97 3Thld Answer Figures / 3tX 377?»’7%/2#

-l OO E
1) ) ®) (4)
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Directions : (For Q. No. 62 and 63). The problem figure shows the elevation of an object. Identify

the correct top view from amongst the answer figures.

fdor: (7 62 363 & forw )i v STFld O fhal a5 F TG §VT Q@ T 81 S
STFlTIl 4 T $THT T&l W g9F TgAi14 |

Problem Figure / H97 STIFHId Answer Figures / 3t 377?77%/2#

1) (2) 3) (4)

62.

63.

! ! ! !

1) (2) 3) (4)

Directions : (For Q. No. 64 and 65). Find the odd figure out of the problem figures given below.
39T : (W 64 3i65 & fomw )i 74 51 7§97 ol § @ favm spia veEn |

] © @
@) ®) (4)

65.

[ /\ [/

O ) () @)
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66. Which color is obtained by mixing red and | 66. AT T drel 31 e § e |1 3 o § 2

yellow colors ?

(1) Purple (1) T
(2) Pink (2) TSt
(3) Orange (3) gad
(4) Brown 4) @
67. Salim Chisti mosque is located in : 67. Teim Tt o1 HeherT el W feord 72
(1) Gwalior (1) TaferR
(2) Fatehpur Sikri (2) R fawd
(3) Hyderabad (3) TEUER
(4) Delhi (4) oot

68. Temperature of the Earth due to the | 68. Xl ol aTaHM ‘I T=E Yu&' 4 :
‘Greenhouse Effect’ :

(1) Increases (1) dem®

(2) Decreases (2) we@T

(3) Remains constant (3) T I9M W@
(4) Keeps increasing/decreasing (4) Edl/=dr Edl ?

69. Vertical sun protectors over wall openings | 69. f&@g®! o WY o @S YIS We&eh P fohtoni

help in cutting off summer sun rays on : 1 ford foum o #1ed €2
(1)  South side (1) <feor i T

(2) West side (2) U= & WH
(3) North side (3) W Hl Th

(4) On all sides (4) STTH
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70.

71.

72.

73.

Which one of the following is not a load

bearing component in a building ?

1 Column

3 Partition wall

(1)
(2) Beam
3)
(4)

4 Concrete floor slab

Which type of roof will provide maximum
protection from heat radiation in a
building ?

(1) Painted aluminium sheeting
(2) Concrete slab with plaster

(3) Concrete slab with mud and brick
tiles

(4) Concrete slab, water proofed and

covered with a roof garden

Ellora temples are :

1 Made in marble

3

(1)

(2)  Built in sandstone
(3) Cut out of rock
4)

4 Built in wood

Gol Gumbaj of Bijapur is :
(1) A Fort
(2) A Mausoleum
(3) A Palace

(4) A Mosque

70.

71.

72.

73.

frfafea § 9 <F @1 ¥o 1 § YR S arel
e T & 2

1)
(2) &R

(3) fawsH er

(4) hehie St ®Y afea
frafafea & & o =a veni § 7t fafeo
Y oy s1fueh qean < ?

(1) T TgfafEm ==

(2) hehle dfeal TR &k WY

(3) shehic ufean fugt wdl €2 1 Trew &%
k312l

(4) 1 S, ITFEd W TH gs hehle
qfean

e o HiST :

(1) HTRR Y

(2) A I R F o §
() TEAHIFLETLE

4) oHSH T
ISR T Tt TS

1) TUsfRane

(1)

(2) TF W T
() THETAR
(4) THUREER
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74. Buland Darwaza is located in :
(1) Fatehpur Sikri
(2) Red Fort
(3) Agra Fort

(4) Golconda

75. BigBenisa:

(1) Clock Tower

(2) Palace
(3) Mosque
(4) Temple

76. 1GBC stands for :
(1) International Great Beautiful City
(2) Indian Green Building Council
(3) Indian Great Building Center

(4) Indian Government Biological

Center

77. Solar energy is converted to electrical

energy by :

(1) Photovoltaic cells
(2) Electro magnets
(3) Bio technology

(4) Rain water

74.

76.

77.

Teig eaTsT e H feorg €2

(1) e fawd
(2) e feRen

(3) AR I femed

378, ST o ¥R, Tt o1 eften 8 2

(1) ST srel X o
(2) YR Ba wed 9iug
(3) YR = e g

(4) YR WHR SHfasw Tg

o et o @ Fororelt ot A 32

(1) ThIREeR® el
(2)  foreg gt

(3) S UrEifiTeRt

(4) oS 1 A
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78. The ruins of Hampi are located in which | 78. &7 & Wes fha T # fod ¥ 2
State ?
(1) Karnataka (1) HAleHh
(2) Andhra Pradesh (2) 7Y T
(3) Kerala (3) &
(4) Tamil Nadu (4) dfHeTg
79. What is Venice famous for ? 79. e ford o fog TR § 2
(1) Canals 1) &
(2) Mountains (2) dd
(3) Valleys (3) =feat
(4) Springs (4) A
80. Pyramids are located in : 80. faufie e feerm €2
(1) Rome 1 ™
(2) Egypt (2) o=
(3) Greece (@) "=
(4) Ethiopia (4) et
-000- -000-
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Read the following instructions carefully :

frefefaa fFesr sarT @ ug -

1. PartI has 30 objective type questions of Mathematics
consisting of FOUR (4) marks each for each correct
response. Part IT (Aptitude Test) has 50 objective type
questions consisting of FOUR (4) marks for each
correct response. Part III consists of 2 questions
carrying 70 marks which are to be attempted on a
separate Drawing Sheet which is also placed inside
this Test Booklet. Marks allotted to each question are
written against each question. For each incorrect
response in Part I and Part 11, % (one-fourth) marks of
the total marks allotted to the question (i.e. 1 mark)
would be deducted from the total score. No deduction
from the total score, however, will be made if nno response
is indicated for an item in the Answer Sheet.

2. Handle the Test Booklet, Answer Sheet and Drawing
Sheet with care, as under no circumstances (except for
discrepancy in Test Booklet Code and Answer Sheet
Code), another set will be provided.

3. The candidates are not allowed to do any rough work
or writing work on the Answer Sheet. All calculations/
writing work are to be done on the space provided for
this purpose in the Test Booklet itself, marked ‘Space
for Rough Work’. This space is given at the bottom of
each page and in five pages (Page 27-31) at the end of
the booklet.

4. Each candidate must show on demand his/her Admit
Card to the Invigilator.

5. No candidate, without special permission of the
Superintendent or Invigilator, should leave his/her
seat.

6. On completion of the test, the candidates should not
leave the examination hall without handing over their
Answer Sheet of Mathematics and Aptitude Test-PartI
& I and Drawing Sheet of Aptitude Test-Part III to the
Invigilator on duty and sign the Attendance Sheet at
the time of handing over the same. Cases where a
candidate has not signed the Attendance Sheet the
second time will be deemed not have handed over
these documents and dealt with as an unfair means
case. The candidates are also required to put their left
hand THUMB impression in the space provided in the
Attendance Sheet. However, the candidates are
allowed to take away with them the Test Booklet of
Mathematics and Aptitude Test - Part I & II.

7. Use of Electronic/Manual Calculator or drawing
instruments (such as scale, compass etc.) are not
allowed.

8. The candidates are governed by all Rules and
Regulations of the Examination body with regard to
their conduct in the Examination Hall. All cases of
unfair means will be dealt with as per the Rules and
Regulations of the Examination body.

9. No part of the Test Booklet, Answer Sheet and Drawing
Sheet shall be detached/folded or defaced under any
circumstances.

10. The candidates will write the Test Booklet Number as
given in the Test Booklet, Answer Sheet and Drawing
Sheet in the Attendance Sheet also.

11. Candidates are not allowed to carry any textual
material, printed or written, bits of papers, pager,
mobile phone, electronic device or any other material
except the Admit Card inside the examination
room/ hall.

1.

TRt & T I H 70T o 30 S8 U9 € s e
¥ % TE S F U =R (4) i fuifa fmd ™ )
T 11 (el wien) # 50 aEgHE W € 5 v
TR I feTT = (4) 379 € | GRTeRT & WRT I H 2 799
g fmep e 70 sk feifa €1 o oo oot wdten gieen
% T W TET I W H § | IoH T 7g Fuifa
3Tk T9 % T SAfehd €1 9FT 1 3TR 9T 11 H g
T 3aY o folt 38 g & forg fifa $a sfai 4 9
Yy (Tep-witerg) 9 (A9fq 1 3i%) F A H G He
o i | afe SR o= | fordt wed 1 i FweAE e
TR, A A H Y R 37w T e S |

e IRATeRT, ST U T SR ¥ 1 SHEYEE TN
Y, Fiifer Tl off gRfRefa § (Faa wian g @
IR T % e § Fierar st feafd 1 Srewt) Tt adan
YRRl SUeTsdl T8l s ST |

ST 1 I I9 W HE H I 1 A1 fa@E 1w
T i STFA TR 7 | Wl T W frT 1 R, Tle
gient H fuiftd srre S i ‘7% @[ & foa s’ g/
ifeRd &, W 2l o SR | T8 SHTE s I W A 6
3R e Yt & 3fd | uiel g5t (IS 27-31) R & T
gl

T ST T Sereh 31szreft fordvearen b o7o warw e femmd |

5. sieferen a1 fdieren 1 fom s1afa & fomr &8 eTweff

10.

11.

ST T A BE |

T FHE B W, AgAl FTarRl & oTuH
T - AW 1 TS ATTela Teq0 - 90T [ o1 ST 99 0§
rfirefer TteTor- T 111 1 ST wie 2 oi Suftufq o
TR T TER AR HH & TLEG & T 8 BIE |
T 7 3 TR I8 THT STE o 3T 93 T e e -1l
drer T € & eTafed Tree v 6t Soft § wHE S
ITAYT U AT T ok IS T 9T Sufeerta o
fau 7T T W ey wMd | qenfy, steelt oTueT
Tford T stfefe aderor - R 1TE 11T Sie gident i
o N GHR

A oh/ SR Uehetsh a1 ST SUHL0T (59 T
Thel, SHUTH SIS 1 THT S & |

e BTt B TR0l o Toru s1egeft udieq fepm o i e
fafrermi gra frafaa 21 emfaa arem w&im & 99 A
o1 ThEen wien fe o i e fafei o sTgam g
forddt oft feafq & wdan giaen, S o= wd SR e
FE off 90T T @ Te fRa S iR T € Hrer S
STeET Tl SR |

e geent, IR IS TS ST ¥ie H < T8 Wi YR
T &t sregefl Ut ik 9§ wifstdt o H oft forg |
arveft g uterT het) et B WISt RIS o TeTall fohet
YehT ol UT3T |, Hfqa o geafaiiad, SeTst st
ufeiat, USK, WiaTge Wi, Soia (1+1eh SUhIuT I ferdt
3T YehTY hi |THIT SRl o1 ST AT YR i aht ST
T
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